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.     Starter    .
Sketch these graphs
1)  y = 2x – 4

2)  x = 4
3)  y = – x


4)  
[image: image6.emf]y
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Write the equation for these lines: 











Equations:










7)





8)











9)





10)
.     Overview    .
Skills 

Sketching a graph of use the intercept-intercept method
Recognise a linear equation NOT in the form y = mx + c

Concepts

A line graph equation can take many forms
eg 2x + 3y = 6

y + x + 5 = 0 


3 – 2y = x

To find the x intercept put y = 0 in the equation

To find the y intercept put x = 0 in the equation

 Join the x and y intercepts
Example 
1) Sketch the graph of      3y + 2x = 6






y intercept =


x intercept =
2) Sketch the graph of      2y – 4x + 10 = 0







y intercept =
x intercept =
.     Practice A    .
Sketch these graphs
5)  y + 2x = 5

6)   x – y = 6

7)  x + y = 5
8)  2x – y = 8 
9)  50x + 80y = 200
10)  x – 3y + 6 = 0
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